
RELAÇÃO DO AÇO

P1-L4 P1-L3 P1-L2

P2-L4 P2-L3 P2-L2

P3-L4 P3-L3 P3-L2

P4-L4 P4-L3 P4-L2

P5-L4 P5-L3 P5-L2

P6-L4 P6-L3 P6-L2

P7-L4 P7-L3 P7-L2

P7-L1 P8-L4 P8-L3

P8-L2 P8-L1 P9-L4

P9-L3 P9-L2 P9-L1

P10-L4 P10-L3 P10-L2

P10-L1

AÇO
N DIAM

QUANT
C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 252 24 6048

2 5.0 301 107 32207

3 5.0 96 29 2784

4 5.0 224 117 26208

5 5.0 26 34 884

6 5.0 130 127 16510

7 5.0 130 34 4420

8 5.0 192 29 5568

9 5.0 25 24 600

10 5.0 72 24 1728

CA50 11 10.0 10 297 2970

12 12.5 54 297 16038

13 12.5 36 388 13968

14 12.5 6 242 1452

15 12.5 6 257 1542

16 12.5 16 347 5552

17 12.5 1 75 75

18 16.0 32 301 9632

19 16.0 10 296 2960

20 16.0 9 347 3123

21 16.0 27 398 10746

22 16.0 9 259 2331

23 16.0 5 96 480

24 16.0 13 311 4043

25 16.0 36 348 12528

26 16.0 16 276 4416

RESUMO DO AÇO

AÇO DIAM

(mm)

C.TOTAL

(m)

QUANT + 10%

(Barras)

UNIT PESO + 10%

(kg)

CA50 10.0 29.7 3 12 m 20.1

12.5 386.3 36 12 m 409.3

16.0 502.6 47 12 m 872.6

CA60 5.0 969.6 89 12 m 164.4

PESO TOTAL

(kg)

CA50 1302

CA60 164.4

Volume de concreto (C-35) = 7.63 m³

Área de forma = 116.70 m²
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RELAÇÃO DO AÇO

VFSS1 VFSS2 VFSS3

VFSS4

AÇO
N DIAM

QUANT
C.UNIT C.TOTAL

(mm) (cm) (cm)

CA60 1 5.0 29 117 3393

2 5.0 3 106 318

3 5.0 36 77 2772

4 6.0 6 118 708

CA50 5 6.3 6 353 2118

6 6.3 6 389 2334

7 10.0 1 342 342

8 10.0 2 348 696

9 10.0 3 355 1065

10 12.5 1 352 352

11 12.5 2 359 718

12 12.5 2 366 732

13 12.5 1 289 289

14 12.5 1 293 293

15 12.5 1 409 409

16 12.5 2 416 832

17 12.5 2 403 806

18 12.5 2 410 820

RESUMO DO AÇO

AÇO
DIAM

(mm)

C.TOTAL

(m)

QUANT + 10%

(Barras)

UNIT PESO + 10%

(kg)

CA50 6.3 44.5 5 12 m 12

10.0 21 2 12 m 14.3

12.5 52.5 5 12 m 55.6

CA60 5.0 64.8 6 12 m 11

6.0 7.1 1 12 m 1.7

PESO TOTAL

(kg)

CA50 81.9

CA60 12.7

Volume de concreto (C-35) = 0.83 m³

Área de forma = 13.22 m²
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